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QUESTION 1

When configuring BGP as the PE-CE protocol on an Alcatel-Lucent 7750 SR, the configuration on the CE is done under
the context and the PE configuration is under the context.

BR:CE-1# show router bgp routes

BEP Reoutexr ID : 10.10.10.76 A5 : 65200 Local A5 : &5200

Legend —
Ltatus codes 1+ O — used, s — suppressed, h — history, d — decayed, ™ — wvalid
Origin codes : 1 - IGP, & — EGP, ? — incomplete, > - kest

BGE Routes

Flag Network Nexthop LocalPref MED
VPN Label As-FPath
x> 10L1,2.0724 gl 31 I i | none none

£5100 65100

u*>2 10 100 h 78 ez 10.16.1.1 none none
65100 65100

u*>i 10.32.1.0/24 B8 el | none none
65100

A. Global, router
B. Router, router
C. Service, router
D. Router, service
E. Service, service
F. Router, global

Correct Answer: D

QUESTION 2

When a Service Provider offers VPRN services to its customers, which of the following functions are expected to be the
responsibility of the Service Provider? (Choose three)

A. Distributing the customer generated labels between sites
B. Distributing the customer routing information between

C. Forwarding the customer originated data packets to the appropriate destination
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D. Forwarding the provider originated data packets to the appropriate customer site
E. Providing secure layer 3 routing exchange between sites

Correct Answer: BCE

QUESTION 3

A customer has two sites connected to PE-1 and a third site dual-homed to PE-2 and PE-3. If BGP is used as the PE-
CE protocol, what is the total number of BGP and MP-BGP sessions required on PE-1 for a functional VPRN service?
Assume that route reflection is not used.

A. 0 BGP and 2 MP-BGP sessions

B. 2 BGP and 0 MP-BGP sessions

C. 2 BGP and 1 MP-BGP sessions

D. 2 BGP and 2 MP-BGP sessions

E. 1 BGP and 2 MP-BGP sessions

Correct Answer: D

QUESTION 4

The policies shown below from the configuration of an Alcatel-Lucent 7750 SR have been created to implement an
Extranet VPRN between the main sites of two separate VPRNs. How should these policies be applied?

A. ample Policy should be applied as an export policy on the PE connected to the main site of Customer 1
B. ample Policy 3 should be applied as an export policy on the PE connected to the main site of Customer 2

C. ample Policy 3 should be applied as an export policy on both PEs connected to the main site of Customer 1 and the
main site of Customer 2

D. ample Policy should be applied as an export policy on both PEs connected to the main site of Customer 1 and the
main site of Customer 2

E. ample Policy should be applied as an export policy on all PEs connected to sites of Customer 1

Correct Answer: A

QUESTION 5
Which of the following about VPRN Outbound Route Filtering (ORF) is FALSE?
A. Resources consumed at the sender and receiver PEs can be reduced by using BGP ORF.

B. BGP ORF allows a receiving PE to filter out unnecessary inbound routes.
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C. A PE indicates its ORF capabilities to its neighbor PE in a BGP Open message.

D. BGP ORF is most effective when a large number of routes is being exchanged between two peers, and most routes
are filtered out on arrival.

Correct Answer: B
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